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RIER b AR X EGEH

BX3—2 BEMIIERTHIEEEINDIEEICEATLHEEA1/1) REFE P22 &
[ EEAEOE | BmES 12551006 | BA | TF1 [ _me | ehi e el
) SMERIHhD TinZhEEd 51 i SMERIHR
ﬁg TREOBEBOSILHOKRES TERFEDOHBEEILHNOKRES TEFEOBEBOEILHOKRES TREOHBESILADKES
7 100kN/mM##BZ5 | 1.00 | 0.00 ~ 341 154.85 |3m#Z#BZ 5| 000 ~ 201| 3.88 19.59 | 100kN/m%#82% | 1.00 | 10.71 ~ 81.41 1564.85 |3mZE#BZB| 5000 ~ 81.41| 3.88 19.59
s 1.00 | 341 ~ 1120 100.00 | NS | 201 ~ 1120] 3.00 16.16 st 1.00 | .00 ~ 1071 100.00 | =nst | 5.00 ~ 3000 3.00 15.16
2 100kN/mM#E#BZ5 | 1.00 | 000 ~ 220 13871 |3m%E#Bx 5| 000 ~ 208| 5.92 17.25 | 100kN/miZ#825 | 1.00 | 1341 ~ 8088 | 13871 |3m&E#BZ 5| 3000 ~ 80.88| 3.92 17.25
s 1.00 | 220 ~ 889 100.00 | #nlst | 208 ~ 889 | 3.00 13.20 st 1.00 | 6.00 ~ 1341 100.00 | =nst | 6.00 ~ 3000 3.00 13.20
3 100kN/m%E#Bz5| 1.00 | 000 ~ 382 16226 |3m&EiBZ5| 000 ~ 162| 3.86 19.51 | 100kN/mi%#825 | 1.00 | 10.79 ~ 4127 16226 |3m&EBZB| 25,00 ~ 41.27| 3.86 19.51
s 1.00 | 382 ~ 1161 100.00 | NS | 1.62 ~ 11.61] 3.00 16.16 st 1.00 | 6.00 ~ 10.79 100.00 | =nst | 5.00 ~ 2500 3.00 15.16
4 100kN/m%E#Bz5| 1.00 | 000 ~ 378| 161.46 |3mEBZ3| 000 ~ 144\ 3.72 18.80 | 100kN/mi%#825 | 1.00 | 1055 ~ 4498 161.46 |3mERBZB| 25,00 ~ 44.98| 3.72 18.80
s 1.00 | 378 ~ 1157 100.00 | NS | 1.44 ~ 1157| 3.00 16.16 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ Fhst ~ FhLst ~ zhLst ~




